Unit 5 CA Answers

Directions: Graph. Label the vertex and axis of symmetry. Make sure you include as many points as possible on_the

graph (at least 3). 3 points each. e _/q
Df(x)= (x+1)2+1 2)f(x)=-2(x-4)°+6 3) f(x) = -2x° + 8x 10
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4) f(x)=x"-4x+5 30 DIRECTIONS: Tell whether the function has a minimum value or a
‘ ﬂ\ 9;:.() maximum value. Find the minimum or maximum value. 2 points each.
1% 0"3_ 5) y = -0.54(x -0.52)? - 0.85 6) y = 45x2 + 630x - 235
: “ -G® 7S
' 1 MMM ..b _
1/ bf N E g_L‘h\
: ) \l A"\Sﬁ 3 (7—) =239
o y=9s () 403
: Mandm om VALE AT
ek 4
DIRECTIONS: Factor each completely. 3 points each.
9) 3x° - 24x - 60 \ 10) gnz +24n +‘1‘§ 11)8p?-10p -3 x - + 78
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DIRECTIONS: Solve AND sketch each answer. 4 points each.

15) x? + 10 £ 5 + bx 16) 5x? - 24 = 14x K ~'2o
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DIRECTIONS: Simplify PPN
19) 2V20 - —=5V10 20)—— (3-8%)
—» (oo 3+2V5 (3 -215)
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DIRECTIONS: Solve each equation by taking square roots. 3 points each.
1 2 — 22) 4(x + 21)* - 114 = 142
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Unit 6 Applications L—

1) One morning Mr. Brust wakes up realizes how ridiculous his man-pris look on him. He decides to sell all of his man-
pris and that he'll offer a discount to people who buy in bulk. He's going o offer a $6 discount for each pair of man-
pris bought..so the more you buy the cheaper each item is. He came up with formula for his profit of P(x) = x (216 -
6x), where P is the profit and x is the number of items bought.

a) Find Brust's man-pris selling formula in standard form. '()a <X (’- . '('f)
= 2Lx -Cxt

)= -6xt 110X

b) What is the maximum profit Brust can make? How many items would he have to sell?

ke 3 T . R - t L (e
[: F1Tgy ewe TiataT)

¢) How many pairs of man-pris will he need to sell if he makes nothing? (HINT: Find the zeroes of the function)

O0=x (UL -tx) Xz 2l

2) Bean realizes that he's going to need more room at his house for his ever expanding family. He decides to give his

kids more room in their play room. Currently the room is 5 meters by 15 meters and he decides that he'll add 300

square meters to that by adding the same distance, x, to both the length and width of the room.
a) Find the current area of the room.  RA=$ XIS
b) Write an equation that models adding 300 square meters to the area by addi xto both the
length and the width. 75436 = (XH1D(xa5) 235 = ¥“+2ex43S
775 = YL4TRAKK47S
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c) Solve the equation and find the new dimensions of the room that Bean is g;kgg build.
O _ K‘L +'L° x -30d
= (x-18) (K r3y
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